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Deutsche Geschichte und Kultur
Hinweis: Mit den folgenden Fragen werden lhre Kenntnisse Im Bereich ,,Deutsche

Geschichte und Kultur* gepriift. Lesen Sie bitte sorgfiiltig die Fragen und entscheiden Sie
sich dann fiir die richtigen Antworten!

51- Welche der folgenden Banken ist fiir die schweizerische Geld- und Wihrungspolitik

zustiindig?
1) Schweizerische Nationalbank 2) Schweizer Bundesbank
3) Schweizerische Notenbank 4) Schweizer Devisenbank
52- Die Schweiz ist ein Land in ------------- mit der Hauptstadt ------------- z
1) Westeuropa - Bern 2) Zentraleuropa - Bern
3) Zentraleuropa - Ziirich 4) Westeuropa - Ziirich
53- Liechtenstein ist ein deutschsprachiges Land und laut seiner Verfassung ein (eine)
1) Republik 2) Bundesland 3) Fiirstentum 4) Monarchie
54- In Deutschland ist der Bundesprisident ------------- zuzuordnen.
1) keiner der drei Staatsgewalten 2) der Legislative
3) Judikative 4) der Exekutive
55- Das Ministerium, das in Deutschland fiir die deutsche AuBen- sowie Europapolitik
verantwortlich ist, heil3t das -=-=--eeaee-- ,

1) AuBenministerium

2) Auswiirtige Amt

3) Ministerium fiir Auswirtige Angelegenheiten

4) Amt fiir den Auswirtigen Dient

56- Welcher der folgenden Siitze stimmt?

1) Die Schweiz ist kurz vor dem Ausbruch des Zweiten Weltkrieges von den Alliierten
als neutraler Staat anerkannt worden.

2) Erst nach dem Ersten Weltkrieg ist die Schweiz als ein neutrales Land anerkannt
worden.

3) Withrend des Ersten Weltkrieges bewahrte die Schweiz die bewaffnete Neutralitiit.

4) Erst nach dem Zweiten Weltkrieg hat die Schweiz einen Antrag auf die bewaffnete
Neutralitiit gestellt.
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57- Die Unabhiingigkeit von Osterreich ist zwar nach dem Zweiten Weltkrieg besiegelt

worden, angekiindigt worden ist diese Unabhiingigkeit jedoch erstmals 1943 ------enan--- "
1) in der Londoner Konferenz 2) im Warschauer Pakt
3) im Pariser Abkommen 4) in der Moskauer Deklaration

58- Osterreich erlangte 1955 die volle Souveriinitiit, nachdem sich das Land unter andrem
verpflichtet hat, ------------- ’

1) den Anschluss an Deutschland voranzutreiben

2) keinen erneuten Anschluss an Deutschland anzustreben

3) den erneuten Anschluss an Deutschland anzunehmen

4) den vor dem Zweiten Weltkrieg bestehenden Anschluss an Deutschland fortzusetzen
59- Deutschland wird deswegen auch als Parteiendemokratie genannt, weil in diesem Land

1) die Parteien eine starke Stellung haben
2) alle Parteien im Bundestag prisent sind
3) die Parteien fiir die Bildung der Regierung eine Koalition vereinbaren
4) alle Parteien an der Regierungsbildung beteiligt sind
60- Das deutsche Bundesverfassungsgericht ------------- ¢
1) verifiziert die Beschliisse des Parlaments
2) ist fiir die Niederschrift der Verfassung verantwortlich
3) wacht iiber die Einhaltung des Grundgesetzes
4) iiberpriift die Entscheidungen des Obersten Gerichtshofs

Grammatik
Hinweis: Mit den folgenden Fragen werden Ihre Kenntnisse im Bereich ,,Grammatik®

gepriift. Lesen Sie bitte sorgfiiltig die Fragen und entscheiden Sie sich dann fiir die
richtigen Antworten!

61- —mmmmeeeeeen kann ich nichts; das ist nicht meine Schuld.
1) Dazu 2) Damit 3) Dartiber 4) Dafiir

62- Wenn man etwas als erledigt betrachtet, bedeutet das, dass man es abhaken ------------- 3
1) soll 2) muss 3) kann 4) will

63- Ich mache Uberstunden, ----=-------- .
1) mir einen Urlaub zu leisten kénnen 2) um mir einen Urlaub leisten zu kdonnen
3) mir einen Urlaub leisten zu kénnen 4) um mir einen Urlaub zu leisten kénnen

64- Welcher der folgenden Siitze ist in Futur II formuliert worden? Sie wird einen anderen

1) kennen lernen haben 2) gelernt haben
3) gelernt werden haben 4) kennen gelernt haben
65- Welche Formulierung ist die passende Alternative fiir den Satz ,,Zur Modernisierung
des Betriebs wurden moderne Maschinen gekauft? ------------- , wurden moderne
Maschinen angeschafft.
1) Um den Betrieb zu modernisieren
2) Den Betrieb zu modernisieren
3) Den Betrieb modernisieren zu konnen
4) Den Betrieb modernisieren
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Wortschatz
Hinweis: Mit den folgenden Fragen werden Ihre Kenntnisse im Bereich ,,Wortschatz*

gepriift. Lesen Sie bitte sorgfilltig die Fragen und entscheiden Sie sich dann fiir die
richtigen Antworten!

66- Ich habe versucht, ihn zu -=--=-eeeeae , aber da war nichts zu wollen.

1) manipulieren 2) iiberzeugen

3) falsifizieren 4) rehabilitieren
67- Wenn wir das niichste Spiel nicht gewinnen, dann werden wir den Klassenerhalt nicht

mehr ------------- .

1) antreiben 2) bestehen 3) schaffen 4) ablegen
68- Mit diesen Informationen kann ich leider nichts ------------- :

1) vervieltiltigen 2) zirkulieren 3) umhergehen 4) anfangen
69- Ich habe eine Grippe und muss das Bett ------------- :

1) hiiten 2) pflegen 3) anlegen 4) bezichen
70- Er hat einen hohen -----=-=----- fiir seine Unachtsamkeit gezahlt.

1) Beleg 2) Preis 3) Ansatz 4) Zuschuss

Nt btle] Gl ) i Y (o151 ol K48 9 g )b 9 ot Lol

Lea atentamente la disposicion transitoria octava de la Constitucion

Espariiola y conteste a las preguntas planteadas:

Las Camaras que han aprobado la presente Constitucion asumirdn, tras la entrada en
vigor de la misma, las funciones y competencias que en ella se sefialan,
respectivamente, para el Congreso y el Senado, sin que en ningiin caso su mandato se
extienda mads alld del 15 de junio de 1981.

A los efectos de lo establecido en el articulo 99, la promulgacion de la Constitucion

se considerard como supuesto constitucional en el que procede su aplicacién. A tal
efecto, a partir de la citada promulgacion se abrird un periodo de treinta dias para la
aplicacion de lo dispuesto en dicho articulo.
Durante este periodo, el actual Presidente del Gobierno, que asumird las funciones y
competencias que para dicho cargo establece la Constitucion, podra optar por utilizar
la facultad que le reconoce el articulo 115 o dar paso, mediante la dimision, a la
aplicacion de lo establecido en el articulo 99, quedando en este tltimo caso en la
situacion prevista en el apartado 2 del articulo 101.

En caso de disolucidn, de acuerdo con lo previsto en el articulo 115, y si no se
hubiera desarrollado legalmente lo previsto en los articulos 68 y 69, serdn de
aplicacién en las elecciones las normas vigentes con anterioridad, con las solas
excepciones de que en lo referente a inelegibilidades e incompatibilidades se aplicara
directamente lo previsto en ¢l inciso segundo de la letra b) del apartado 1 del articulo
70 de la Constitucidn, asi como lo dispuesto en la misma respecto a la edad para el
voto y lo establecido en el articulo 69,3.
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71-

72-

73-

74-

75-

De qué disposicion transitoria se trata:

1) DECIMA 2) PRIMERA 3) OCTAVA 4) NOVENA

A los efectos de lo establecido en el articulo 99:

1) se abrird un periodo de diez dias para la aplicacién de lo dispuesto en dicho articulo.

2) se abrird un perfodo de quince dias para la aplicacion de lo dispuesto en dicho
articulo.

3) se abrira un periodo de veinte dias para la aplicacion de lo dispuesto en dicho
articulo.

4) se abrird un periodo de treinta dias para la aplicacion de lo dispuesto en dicho
articulo.

En caso de disolucion:

1) seran de aplicacion en las elecciones las normas vigentes con posterioridad

2) serdn de aplicacion en las elecciones las normas derogadas con anterioridad

3) serdn de aplicacion en las elecciones las normas vigentes con anterioridad

4) serdn de aplicacion en las elecciones las normas vigentes con anterioridad sin
excepciones

Las Camaras que han aprobado la presente Constitucién:

1) asumirdn, tras la entrada en vigor de la misma, las funciones y competencias que en
ella se sefialan

2) asumirdn, antes de la entrada en vigor de la misma, las funciones y competencias
que en ella se sefialan

3) asumiran, tras la entrada en vigor de la misma, las funciones y competencias
acuerden por votacién publica

4) asumirdn, sin necesidad de la entrada en vigor de la misma, las funciones y
competencias que en ella se sefialan

Las Camaras que han aprobado la presente Constitucion asumiran las funciones y

competencias para el Congreso y el Senado:

1) sin que en ningiin caso su mandato se extienda mds alla del 15 de junio de 1978.

2) sin que en ningdn caso su mandato se extienda mads alla del 15 de junio de 1981.

3) sin que, salvo excepciones, su mandato se extienda mas alld del 15 de junio de
1981.

4) sin que, salvo excepciones, su mandato se extienda mds alla del 30 de junio de
1978.

Durante este periodo:

1) el actual Presidente del Senado, asumird las funciones y competencias que para
dicho cargo establece la Constitucion

2) el actual Jefe del Estado, asumird las funciones y competencias que para dicho
cargo establece la Constitucion

3) el actual Presidente del Congreso, asumird las funciones y competencias que para
dicho cargo establece la Constitucion

4) el actual Presidente del Gobierno, asumird las funciones y competencias que para
dicho cargo establece la Constitucion
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78-

79-

80-

81-

82-

84-

85-

86-

. Cuales son los factores determinantes de regionalizacion en América Latina del S.

XIX?

1) Cambio de politica de los espafioles, fracaso de los colonizadores, rebeliones de etnias.

2) Diferencias etnias sociales, la inexistencia de una economia unificada, dificultades
de comunicacion.

3) Fracaso econdmico, falta de comunicacion entre Espafia y los colonizadores, la
aparicion de criollas.

4) 2 y 3 son correctas

(Cuadl de las siguientes frases es incorrecta?

1) En virtud de la demora, toda la flota ateniense fue capturada.

2) Solicito que se le atenuara la pena en razon a su estado mental.

3) Custodiaban un coche cargado de explosivos cerca a una de las pistas.

4) Los socios estaran dedicados a la compra y venta de mercancias y provisiones al por
mayor.

Con respecto a la siguiente frase, indica la opcion correcta.

«Durante la rueda de prensa se le cuestioné al escritor sobre su nueva novela».

1) Es gramaticalmente correcta, aunque haya faltas ortograficas.

2) Es incorrecta por el uso impropio del verbo cuestionar.

3) Es correcta, pero no elegante.

4) Es incorrecta por leismo.

(A qué cultura precolombina pertenece el Popol vuh?

1) A casi todas. 2) Cultura inca. 3) Cultura azteca. 4) Cultura maya.

. Quiénes son los escritores mas destacables del neobarroco?

1) José Lezama Lima, Alejo Carpentier, Severo Sarduy, Reinaldo Arenas.

2) José Lezama Lima, Alejo Carpentier, Mario Vargas Llosa, Juan Rulfo.

3) José Lezama Lima, Cabrera Infante, Mario Vargas Llosa, Carlos Fuentes.

4) Julio Cortézar, Jorge Luis Borges, Juan Rulfo,Gabriel Garcia Marquez.

. Cual de las siguientes frases es correcta?

1) Me gustaria ir a un hotel que estd cerca de la playa.

2) En aquel hotel no habia nadie al que pedir informacidn.

3) Este error es frecuente en las personas aprendiendo espafiol.

4) Nosotros, con las cuales podras habla siempre que quieras, intentaremos aconsejarte bien.

(. Qué recurso estilistico se ha empleado en la siguiente frase?

Donde espumoso el mar siciliano el pie argenta de plata al Lilibeo palidas sefias cenizoso

un llano del duro oficio da

1) Metafora 2) Polisindeton 3) Hipérbaton 4) Personificacién
El pobre ----e=-eauu-- come: esta en las ultimas.
1) apenas 2) por poco 3) casi 4) a menos que

. Cuadl de las siguientes frases es gramaticalmente correcta?

1) yo soy timida de por mi.

2) En el concierto hubieron muchos heridos.

3) Tiene un sentido de la responsabilidad tremenda.

4) La funcién estd prevista que comience a las diez.

. Qué paises formaron parte del Imperio mejicano tras su independencia en 18217
1) Chiapas, Guatemala, Honduras y Nicaragua

2) Guatemala, Cuba, Honduras y El Salvador

3) no se forma ningun Imperio

4) Chiapas, el Salvador, Nicaragua
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. Ya has comprado las entradas? Es que no puedo ir.
No te preocupes. Cuando ------------- otra vez ese grupo, vamos.
1) venga 2) viene 3) vendra 4) vendria

Por qué fracasé la Confederacion Perii- boliviano?

1) por tener choques con los intereses de la reptiblica de Chile.
2) por amenazar los interese de los espafioles.

3) por la guerra Civil de Bolivia

4) por las sanciones ejercidas por EEUU.

Por qué no invitas también a Alicia?

= NO ---mmmmemea venir, porque vienes tia, ya lo sabes.

1) quiera 2) quisiera 3) querra 4) habia querido
El dltimo pais que logré su independencia fue:

1) Perd 2) Cuba 3) México 4) Guatemala

Sl U

Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Many of the challenges facing Latin America in the 21st Century are ones with which
it has dealt since independence from Spain 200 years ago. The dependence on fragile
trade relationships and primary products, the incessant violence, and inequality
practically defined the region in the 19th Century. The fragility of the environment and
the global web are new, but the outstanding challenge remains the same: the
institutionalization of social order through the state. While the region may not be able
to resolve all the challenges it faces, nothing can be done without the solidification of
state capacity. Some states in Latin America might be better than others with regards
to their performance in terms of the provision of certain services, or the
implementation of particular policies. However, the type of solidification in dire need
is one that makes both state and society more regular and predictable. Every day, Latin
Americans makes use of their ingenuity in order to deal with the unexpected and
irregular sources of violence, poverty, and environmental phenomena. However,
individual ingenuity is costly when mostly directed at basic needs, and uncertainty has
only increased with globalization and with the slow pace by which the world has met
the challenge of human-made environmental changes.

Overall, Latin American states have not been able to make economic activity
predictable for most of the population. Policies directed towards social inclusion have
become less and less about building institutions that permanently help individuals deal
with the uncertainties of the market, and more about providing minimal and
intermittent relief to those in a situation of emergency. Likewise, most states
throughout the region have not been able to control interpersonal violence and in some
cases the state itself has become a source of increased violence. State action regarding
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basic social order instead of considering the structural sources of violence, is
superficially interpreted as a "simple" problem of coercion. Paradoxically, this means
that in a more uncertain world, instead of states becoming a source of stability and
regularity, they have become an added source of uncertainty for everyday life. This
paradox might be the greatest challenge Latin America has to face. Meeting the
challenge implies that countries will need stronger states, not only for implementing
specific policies, but more importantly for developing new ways to regularly deal with
the increasing risks their populations are facing.

The grand challenges for Latin America ---------- .

1) have remained unsolved for about two centuries

2) have been generated because it was a colony of Spain

3) have reduced its speed toward globalization

4) have made its people increase their ingenuity

Before overcoming the challenges, Latin America should ---------- .
1) strengthen the capacity of its states

2) concentrate more on Some certain services

3) focus strongly on implementing some policies

4) determine the states being better than others

The word “dire” in paragraph 1 can be replaced by ---------- .
1) acceptable 2) additional 3) immediate 4) long-term
The less institutions in Latin America, -=--=----- ;

1) the less risks the populations are facing

2) the more uncertainties in its economy

3) the less individuals using their capacities

4) the more minimal and intermittent relief to people in emergency situations

By any standard measure, you can conclude from the passage that the Latin American
states have ---------- "

1) solved the problem of coercion structurally

2) strived to provide people with their basic needs

3) left citizens vulnerable to a range of shocks

4) diminished the fragility of environment as a new problem

PASSAGE 2:

Legislation that has been approved by the Lower House will oblige employers to
"make efforts” to secure job opportunities for their employees until they turn 70 if they
wish to keep working. A key part of the social security reform pursued by Prime
Minister Shinzo Abe, the measure aims to make up for the growing labor shortage in
an aging and shrinking population by prodding the elderly to work longer—and to help
support the social security system under demographic pressure.

However, doubts linger as to whether the proposed policy is enough to keep elderly
people motivated to continue working into more advanced age in good health and
under safe conditions. The policy needs to be constantly examined to see if it's serving
the intended purpose.

While most Japanese companies set the mandatory retirement age of their
employees at 60, people basically become eligible to receive public pension benefits
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when they turn 65. The current law for stabilizing elderly workers’ employment
requires the employers to enable their employees to keep working until the age of 65—
either by abolishing or extending the retirement age or by rehiring the employees on
post-retirement contracts.

The proposed legislation calls on employers to try to secure job opportunities for
their employees until they turn 70 through these measures and additional options such
as commissioning jobs to retirees who start their own business or giving them
freelance work, as well as getting them to engage in social activities in which the
companies will be involved. These options, as well as the lack of penalties against
employers that fail to make such efforts, are said to be designed to ease opposition on
the part of companies that reject uniform rules that add to manpower expenses. This
raises questions as to how effective the legislation will be in enabling more people to
stay in the labor market longer.

The best title for this passage is ---------- »

1) Emerging challenges in providing job opportunities

2) Keeping the elderly in the labor market longer

3) Pursuing Japanese employees to improve labor work

4) Adjusting to retirement problems of the labor force

According to the passage, Japan forces its policy makers ---------- .

1) to cope with labor shortages

2) to oblige employees to accept new labor laws

3) to encourage the elderly to reform the social security

4) to support the change in aging workforce

The word “linger” in paragraph 2 is closest in meaning to ---------- .

1) expect 2) remain 3) disappear 4) increase
The employers try to keep their work force until the age of 65 by all of the following
EXCEPT ---eeeen-- :

1) putting an end to retirement law

2) increasing the legal retirement age

3) setting the mandatory retirement age

4) signing contract with a former employee

It’s stated in the passage, employers not accepting to secure job opportunities for retired
workers =--------- .

1) are not subject to penalties

2) will not be involved in making decisions

3) can’t participate in social activities

4) are given freelance work without government support

PASSAGE 3:

The Falklands War was a ten-week undeclared war between Argentina and the United
Kingdom in 1982 over two British dependent territories in the South Atlantic: the
Falkland Islands, and its territorial dependency, South Georgia and the South
Sandwich Islands.

The conflict began on 2 April, when Argentina invaded and occupied the Falkland
Islands, followed by the invasion of South Georgia the next day. On 5 April, the
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British government dispatched a naval task force to engage the Argentine Navy and
Air Force before making an amphibious assault on the islands. The conflict lasted 74
days and ended with an Argentine surrender on 14 June, returning the islands to
British control.

The conflict was a major episode in the protracted dispute over the territories'
sovereignty. Argentina asserted (and maintains) that the islands are Argentine territory,
and the Argentine government thus characterized its military action as the reclamation
of its own territory. The British government regarded the action as an invasion of a
territory that had been a Crown colony since 1841. Falkland islanders, who have
inhabited the islands since the early 19th century, are predominantly descendants of
British settlers, and strongly favor British sovereignty. Neither state officially declared
war, although both governments declared the Islands a war zone.

The conflict has had a strong effect in both countries and has been the subject of
various books, articles, films, and songs. Patriotic sentiment ran high in Argentina, but
the unfavorable outcome prompted large protests against the ruling military
government, hastening its downfall and the democratization of the country in the
United Kingdom, the Conservative government, bolstered by the successful outcome,
was re-elected with an increased majority the following year. The effects of the
conflict has been less in the UK than in Argentina, where it has remained a common
topic for discussion.

Diplomatic relations between the United Kingdom and Argentina were restored in
1989 following a meeting in Madrid, at which the two governments issued a joint
statement. No change in either country's position regarding the sovereignty of the
Falkland Islands was made explicit. In 1994, Argentina adopted a new Constitution,
which declared the Falkland Islands as part of one of its provinces by law. However,
the islands continue to operate as a self-governing British Overseas Territory.

The Falkland War broke out ---------- :

1) as Falkland Islands acclaimed their independency

2) when Argentina occupied South Georgia on 5 April, 1982

3) when Britain first dispatched its naval force on the Islands

4) because both the UK and Argentina claimed sovereignty over the Islands
According to the passage, the consequences of the conflict ---------- .

1) led to declaration of democracy in the Falkland Islands

2) made the Falkland Islands become a British colony

3) caused a new party to seize the power in the UK

4) accelerated the failure of Argentina government

The word “sentiment” in paragraph 4 means ---------- ;

1) offer 2) feeling 3) defenc 4) agreement
In 1994, based on the given information in the passage, ---------- 1

1) British government deployed its citizens in the Islands

2) Britain declared the Islands a war zone

3) Argentina government completely retook the Islands

4) Argentina proclaimed Islands as one part of its country
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105- Which sentence, according to the passage, is NOT true?
1) Falkland Wars put more impacts on Argentina.
2) The majority people living on Islands are British.
3) The Falkland Wars has had political effects as well as cultural ones.
4) The Diplomatic relations between countries having conflicts are held in Spain.

i b ) Ll o SCio \8 g g 4

106- The nationalist movement in British music ---------- :

1) was founded by Ralph Vaughan Williams

2) was due to continental influences brought to England by Charles II

3) took place in Britain in the last decades of the 20" century

4) came as late as the turn of the 19" and 20" centuries with Edward Elgar
107- All of the following are characteristics of Baroque style EXCEPT ---------- :

1) lavish display 2) badly massed structures
3) the illusion of movement 4) lack of decorative items
108- The modern system of government was established ---------- ,

1) by the union of Scotland and England

2) as England defeated its greatest rival, Spain

3) through reforms introduced by elected councils in 1835

4) after the ascension of the Hanoverian dynasty to the British throne in 1714
109- The Tudor economy was afflicted by all of the following BUT ---------- ‘

1) a lot of wealth coming into the country from colonies

2) vagrancy resulting from intensified enclosures

3) galloping inflation aggravated by a rise in population

4) both internal trade and overseas commerce flourished
110- The British Commonwealth of Nations ---------- :

1) 1s ruled under the British Empire

2) comprises about 30 members at present

3) is a voluntary association of independent states

4) includes members having legal obligations to one another

111- Britain joined the NATO in ---------- ;

1) 1949 2) 1953 3) 1956 4) 1959
112- The Independent Labour Party was founded ---------- .

1) 1in 1801 2)1in 186

3) during Victorian Britain 4) during Georgian Britain
113- Boer War ---------- :

1) resulted in a Boer victory and their independence in 1902

2) occurred between Britain and Dutch settlers in 1899

3) ended with the defeat of Denmark in South Africa

4) made Britain internationally popular due to the use of concentration camps
114- The shell crisis ---------- X

1) provoked an economic crisis

2) led to the formation of a coalition government

3) resulted in the formation of a national government

4) occurred at the expense of an independent movement



1 doxio 401E MY 05) ol ladla

115-

116-

117-

118-

119-

120-

121-

122-

123-

Which one is NOT true about Margaret Thatcher?

1) She was entitled Baroness letting her sit in the House of Lords.

2) She was the longest-serving British Prime Minister of the 20" century.

3) She implemented politics that recognised individuals as socially interdependent.
4) She was the leader of the conservative party from 1975 to 1990.

Scots laws are based on ---------- i

1) civil-law principles

2) common-law principles

3) both common-law and civil-law principles

4) common-law, legal-law, and case-law principles

The Stuart dynasty spanned all of these features EXCEPT ---------- :
1) industrial revolution 2) years of Civil War
3) national disaster 4) assassination attempts

Which of the following order of prime-minister in Britain is correct?

1) Harold Wilson (1974), Margaret Thatcher (1976), John Major (1979), Tony Blair
(1990)

2) John Major (1990), Tony Blair (1997), Gordon Brown (2007), David Cameron
(2010)

3) Clement Attlee (1945), Sir Anthony Eden (1951), Sir William Churchill (1955),
Harold Macmillan (1957)

4) David Cameron (2007), Gordon Brown (2010), Theresa May (2016), Boris Johnson
(2019)

“Leader of Her Majesty’s Opposition” is a title given to the leader of ---------- :

1) the second biggest party in Parliament

2) a team presenting the right image of the government

3) a chamber which has no real power and only limited influence

4) group in the House making sure that the rules of procedure are followed

Corbyn was suspended from the Labour Party ---------- .

1) in October 2019

2) on 4 April 2020

3) over his comments about antisemitism

4) due to a dispute between Labor Party and Green one

Howiy o) ) dewsy Kioyd 9 23U 9 ws) HUJ

A. I'paMMaTHKA PYCCKOro A3bIKA:

Nucrpyknus: B ka:xxaom Bonpoce BeiOepATe NPABHJILHBIH BAPHAHT.

I'0cTH BOT-BOT HPHAYT, HAJ0 GHICTPO ---=-=---- B MAarasuH 3a XJc60M.

1) cxouurhb 2) 1oiirn 3) yxouurb 4) BbIHTH

B xakom cJI0Be HeBepHO Bhi/leJIieHa GYKRa, 0003HAYAIONIAN Y IAPHBII IIacHBIH 3RYK?
1) obeciIEHUTE 2) o0erudTn 3) o0ocTpUTH 4) nEnenume

A X0y MOCMOTPETh, KAK ========== MOCTHRI,

1) pa3HocATcs 2) pacxoaarcs 3) pa3BonATCA 4) pazieTaroTcs
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124- JleTH yMEIOT -------=-- KH3HH, H B3POCIBIM He MEMAET Y HIX 3TOMY NMOYYHThCSI.
1) yaIuBUTBCA 2) YIUBIATHCS 3) YOUBIATH 4) yIUBUTH
125- OH npag =--=-==--- .
1) 0060 BceMm 2) BO BceM 3) KO BCEMY 4) o1 Beex
126- C xakHUMH CYMECTBHTETLHLIMH HE COTJIacyeTcs coOHpaTe/ihHOe YHCINTEThHOEe?
1) mBO€ yueHHII 2) TBOE YUCHUKOB
3) Tpoe JIUCAT 4) Tpoe HOMKHHI]
127- Kakomy cJIOROCOMETAHHI0 CHHOHHMWYEH (PPa3e0TOTHIM «XPAHHTh MOTYAHHE»?
1) HabpaTh B pOT BOJIBI 2) BBIITH CYXUM U3 BOJIBI
3) KaK B BOIY TIISACI 4) Kak peI0a B BOJE
128- Kak HH ---------- 9Ta NPod/IeMa, 1 MOCTAPAIOCH €€ PellHTh.
1) oueHb 1pyjHas.  2) 1pyLHO 3) tpyuHas 4) 1pyiHa
129- Bceem eTyacHTAM ----====-- nmyTcmiccTBoBaTh o EBpoiic.
1) uonpasuiacs 2) LIOHPABUIIOCH
3) LOHpaBUICs 4) 110HpaBUIIUCH
130- CopocHre cro, ---------- OH ¢ HAMH HA CTAIHOH.
1) uro uoener 2) eCiI4 110€eT 3) Loeyer Ju 4) yro0bl 11O0EXATb

132-

134-

135-

136-

137-
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b. Pycckan ueTopus u KyJabTypa:

Nuerpykuus: B kaxkaom Bonpoce Bbl0epHTe NPaBU/IbHbIH BAPHAHT.

B ncropuu Pocenn «30/10TbIM BEKOM» ABOPSILIE HAZLIBAIM HEPHOL UPABICIHSH ==mn=n=nn== .
1) Exarcpuns II 2) Ilctpal
3) EnuszaBcThl 4) Anckcanapa [

Croubko pecuydiur uojpmucam B 1991 1. B Auma-Are uporoxko corjgamienusi o0
obpasopannn CHI'?

1) 12 2) 15

3) 10 4)9

Kakoii ropox sisisicTes croanmncii Kpeivekoro xanerpa B XV B.?

1) A3oB 2) Kepub

3) baxuncapaii 4) CeBactonons

B kakoM roay IpoH30ILI0 ocBobokIcHHC PycH 0T opabIHCKOTO Hra?

1) B 1480 1. 2)B 1242 1. 3) B 1380 1. 4) B 1240 1.
Kaxkoii npa3aauk ormcdactes B Poccnn 12 qexadpa?

1) leub Poccun 2) denb Koncruryuuu PO

3) Heub 3ammrHuka Oreuecrsa 4) JleHb HAPOAHOL'O €UUHCIBA
Kak HaspIBaIach mo.IHTHKA pedopm MLC. INopbaucsa?

1) Ilepecrpoiika 2) Orreuelisb

3) CmyTa 4) 3actoii

CKO0JIBKO COBCTCKHUX JIoaci moru6.1o B roasl Beankoit OTcuceTBcHHON BoOIHEI?
1) 15 MULIMOHOB Y€IIOBEK 2) 27 MUWLIMOHOB 4Y€/I0BEK

3) 10 MUATMOHOB YCIIOBCK 4) 8 MUITUOHOB YCIOBCK
HazoBHTC roasl npasjicHAs THHACTHH PoMaHOBBIX.

1) 1696-1894 2) 1462-1682

3) 1613-1917 4) 1328-1462
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139- Yto obo3HauaeT Ha3RaAHNE 3HAMEHHTOH MOCKOBCKOH YIHIIBLI «ApdaT»?

1) u3BecTHEIIT 2) MeCTHEIH
3) uedrpaibHblid 4) 11pu1ropoHbIA
140- Ha30BHTC OCHOBHOC HANIPABJCHHC PYCCKOMH JHTCPATYPHI BTOPOi mo.10BHHEI 19 B.
1) akmeunsm 2) pOMaHTU3M
3) KllacCULIM3M 4) peainsm

(S b ) dndlyd STt S 9 G )l g (soelyd L)

Partie A: Francais général

Trouvez la bonne réponse:

141- Les dictionnaires ---------- jai ---------- allaient ---------- dans le méme sens.
1) que / consulté / tous 2) que / consultés / tous
3) dont / consultés / tout 4) auxquels / consulté / tout
142- 1l raffolait des paysages ---------- qui entouraient son chalet.
1) vert tendre 2) verts tendre
3) vert tendres 4) verts tendres
143- Complétez correctement la phrase suivante: «Si tu ---------- , tu me le -==-aneeuu ».
1) le savais / dirais 2) le saurais / dirais
3) I’aurais su / dirai 4) le saurez / aurai dit
144- O est ’erreur?
1) Je le leur dirai. 2) 1ls mettent leurs gants.
3) Ils leurs ont tout donné. 4) 1l leur a donné son manteau.

145- Quelle phrase ne contient pas de pronom indéfini?
1) Je ne le dirai a personne.
2) Les mémes sont revenus.
3) Chacun a le cadeau qu’il a commandé.
4) Le cadeau que j’ai eu n’est pas de bonne qualité.
146- Quelle phrase ne contient pas un adverbe d’interrogation?

1) Comment vas-tu? 2) Quel est ton choix?

3) Pourquoi ne viens-tu pas? 4) Combien vaut cette robe?
147- Quelle est la bonne formulation?

1) C’est sa faute. 2) C’est a sa faute.

3) C’est de sa faute. 4) C’est par sa faute.

148- Quelle est la fonction grammaticale du groupe prépositionnel souligné: «Il a été pu par
erreur par sa mere»?
1) Complément circonstanciel d’accompagnement
2) Complément circonstanciel de cause
3) Complément d’objet indirect
4) Complément d’agent
149- «Quand nous skions la nuit, nous avons la piste pour nous tout seuls.» Quelle est la
nature grammaticale du mot tout?
1) Un nom 2) Un pronom
3) Un adverbe 4) Un déterminant
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150- Laquelle de ces phrases ne contient pas une proposition subordonnée relative?
1) Je vois une robe qui pourrait lui convenir.
2) Je veux t’offrir I’objet qui te plait le plus.
3) Je suis celui qui vous a t€léphoné hier.
4) Je ne sais pas qui il est exactement.

Partie B: Histoire et culture générale francaises

Trouvez la bonne réponse:

151- Quelle dynastie régna sur les Francs saliens, puis sur la Gaule a partir de Clovis (481-511)?

1) Les bourbons 2) Les capétiens
3) Les carolingiens 4) Les mérovingiens
152- ——-eeeee- , né en réaction contre la féodalité pour asseoir le pouveir royal, caractérise les
monarchies européennes des XVIe-XVlle siécles.
1) L’absolutisme 2) Le monarchisme
3) L’égalitarisme 4) L’ étatisme
153- A quelle époque les croisades ont-elles eu lieu? Combien y-a-t-il eu de croisades?
1) Pendant I’ Antiquité / 3 2) Pendant la Renaissance / 5
3) Pendant le Moyen-Age / 8 4) Pendant le siecle des Lumieres / 10
154- Quel est le traité fondateur de I’Union européenne?
1) Le traité de Maastricht 2) Le traité de Bruxelles
3) Le traité de Rome 4) Les Accords de Paris

155- Quelle est la combinaison qui permet de classer dans I'ordre de leur élection, du plus
ancien au plus récent, ces présidents francais? 1- F. Mitterrand; 2- G.2CmGid Cu; 3- Ch.
De Gaulle; 4- J. Chirac.

13,2, 1,4 2)2,1,3,4
3)2,3,4,1 4)1,3,2,4

156- Laquelle de ces élections ne se fait pas au suffrage universel direct en France?
1) L’élection des députés 2) L’élection des sénateurs

3) L’élection des conseillers municipaux 4) L’élection du président de la République
157- En France, parmi les conditions que doit satisfaire le candidat a la présidentielle, il doit
recueillir ---------- parrainages de ---------- 3
1) 1500 / conseillers municipaux
2) 800 / conseillers départementaux
3) 500 / parlementaires ou d’€lus locaux
4) 1000 / préfets, de magistrats, de haut fonctionnaires
158- Comment s’appelle le régime politique instauré en France durant la seconde guerre
mondiale ayant a sa téte le maréchal Philippe Pétain?

1) Régime constitutionnel 2) Ancien Régime
3) Commune 4) Régime de Vichy

159- En France, le budget de I’Education nationale représente ---------- du budget de I’Etat.
1) 15% 2) 20% 3) 30% 4) 40%

160- Quel écrivain francais décrit la premiere guerre mondiale comme «une croisade
apocalyptique» ou les corps déchiquetés sont réduits a 1’état de viande, dans un roman
intitulé Voyage au bout de la nuit?

1) Louis Guilloux 2) Philippe Sollers
3) Raymond Queneau 4) Louis-Ferdinand Céline
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161- What article of the Constitution was revoked by Narendra Modi's government

162-

163-

164-

165-

166-

167-

168-

169-

170-

171-

172-

173-

174-

regarding the status of Kashmir?

1) Article 320 2) Article 326 3) Article 376 4) Article 370

The Citizenship Amendment Act (CAA) that deprived the Muslim migrants from applying
for citizenship of India was passed in ---------- ’

1) 2011 2) 2009 3) 2019 4) 2021

The predominant form of Hindu nationalism in India promoted by Sangh Parivar is
called ---------- ;

1) Vedas 2) Mahatma 3) Hindutva 4) Mahabharata

The paradigm shift in India's foreign policy took place in the post-cold war era because
of ---------- §

1) the US sanctions 2) U.S. unilateralism

3) domestic differences 4) the collapse of the Soviet Union

The British established their direct rule and colonized India because ---------- .

1) they wanted to develop India

2) the Indians asked them to protect them against their enemies

3) they wanted to keep India away from its neighboring countries

4) they wanted to exploit India's rich natural resources and strategic location

Which type of marriage is predominant among Hindu families?

1) Exogamy 2) Endogamy 3) Polyandry 4) Polygamy

The main hurdle in the way of normalization of relations between India and Pakistan is
the issue of ---------- s

1) Kashmir 2) Hyderabad

3) Himachal Pradesh 4) Arunachal Pradesh

Rama Navami is a Hindu spring festival that celebrates the birthday of Shree Rama, the
seventh avatar of the ---------- .

1) god Devi 2) god Krishna 3) god Vishnu 4) god Brahma

A Hindu will achieve moksha (salvation) if he/she lives in accordance with Hindu
prescribed ---------- .

1) Brahma 2) Dharma 3) Shudra 4) Vishnu

Dissolution of marriage is ---------- in Hinduism.

1) legal 2) allowed 3) illegal 4) not allowed

Who was the first Mughal Emperor, who founded the dynasty that ruled most of
northern India from the early 16th century to the mid-18th century?

1) Akbar 2) Babur 3) Humayun 4) Aurangzeb

The Hindu social stratification is based on birth and is called ---------- .

1) Ram system 2) Shiva system

3) Jati system 4) Vishnu system

Bhimrao Ramji Ambedkar was the first person to use the term ---------- for the people
not included in the four castes in Hindu social stratification.

1) Shiva 2) Dalit 3) Varna 4) Shankar

---------- was the first Prime Minister and Foreign Minister of India after India gained
independence in 1947.

1) Indira Gandhi 2) Jawaharlal Nehru

3) Mahatma Gandhi 4) Lal Bahadur Shastri
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175- Mahatma Gandhi preached ---------- as a method of struggle against the British colonial rule,
1) Gita 2) Himsa 3) Vishnu 4) Ahimsa

176-

177-

178-

179-

180-

181-

182-

(sl g bj ) Hois (515 pof Kid )8 5 s JU

Which of the following documents abolished slavery throughout the entire United
States?

1) 19th Amendment 2) 13th Amendment

3) Missouri compromise 4) Emancipation proclamation

Which town was the location of an infamous war crime where American forces
slaughtered Vietnamese civilians in 1968?

1) My Lai 2) Khe Sanh

3) No Gan Rhi 4) Dien Bien Phu

The series of progressive actions taken by Roosevelt during the “Hundred Days” session
of congress come to be known as ---------- .

1) The Fair Deal 2) The Square Deal

3) The New Deal 4) The Development Deal

What did Civil Rights Act of 1964 accomplish?

1) Tt ended racism in the United States.

2) It provided financial bonuses to states that opted to desegregate public schools and
public offices.

3) It outlawed discrimination based upon race, gender, religion, or ethnicity in both
employment practice and public affairs.

4) It required all government and business employers to hire one non-white employee
for every three new hires.

How did Protestant ethics impact the foundation of modern capitalism in America

according to Max Weber?

1) Frugality and worldly success would get the server far from the asceticism and God.

2) The idea of calling would be compatible with traditionalist labor with minimum wage
satisfaction.

3) Poverty would be an indication of the God's elect and would be rewarded in paradise in
return.

4) It disseminated the belief that serving God simply is possible by fulfilling the
obligations of one’s calling.

What is Antonio Gramsci's view of hegemony?

1) Hegemony is purely economic.

2) Hegemony is a product of the lack of class conflict.

3) Hegemony comes out of modern military technology and warfare.

4) Capitalism exerts its power through complex socio-cultural institutions.

Which choice does not indicate the Puritan origin of American colonies?

1) American Revolution as "the final act of Exodus from the old lands across the waters"

2) America as the "promised land"

3) America as the "city upon a hill"

4) American colonies as the "separatist” from the British Empire
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183-

184-

185-

186-

187-

188-

189-

190-

191-

192-

193-

194-

What choice is not the main concern of the members of the Frankfurt School?

1) The exploitation of modern technology and culture for mass deception

2) Arts neutrality and its sole embodiment of artists' aesthetic self-realization

3) The industrialization and commercialization of culture under capitalist relations of
production

4) Technology as a major force of production and formative mode of social
organization and control

Which right is protected by the first amendment to the US Constitution?

1) Right to bear arms

2) Right to trial by jury

3) Freedom of speech and the press

4) Protection against housing soldiers in civilian homes

The first census in the US history was in ---------- 1

1) 1719 2) 1830 3) 1870 4) 1910

Article V of the U.S. Constitution is about ---------- 3

1) Courts 2) Congress

3) Amendments 4) Power of president

The Witch Trials held in ---------- .

1) 1692 2) 1772 3) 1821 4) 1922

The 1619 project dealt with ---------- .

1) World War Il 2) 9-11 attacks

3) The atomic bomb 4) Slavery in America

The Spanish flu happened in ---------- ;

1) 1773 2) 1862 3) 1918 4) 1932

How many tribes are recognized officially in the U.S.?

1) 228 2) 329 3)574 4) 664

el ol @) ol S8 5 20, 9 (N7 GUJ

HAFE({E (Japanese Grammar)

i ( ) EHETBHEIERY EREA,

DT LY 2) o X2 3) T g 4) o Ly
ZOEITERERNEN ( ) BLWARZW,

D EAEIT ) B & 3) FEiZ 4) Bz

Im A ( ) . MTEEREEVICKRAATLE S,

D LA B DD NG

B ENST HnnTHE
ASBRIEKEIZR>TNS ( ) « ZARBEESBETCHMNT TITo 7,
Dz b bd 2) &AL

3) &kl 4) b



YY axin 401E MYy uS) ke Ol

195- a2 F TR, FEORRIC () 226, SHETAILERHY A,
DiIZTESD 2) DO B
DITTERW 4) VZFR & 720y

196- £ OHEIE, —HDOK ( ) LRV E THELR Lo HIk T
BE-%-4 2} S 3) D 4) 724F

197- 7= ( ) . —HIZ3EY K& RHEN kT,
NEZAHT 2 EEE 3) I BHIZiX ) = &Iz

B L #ET (Vocabulary and Kanji characters)
198- S8 1%, HIERDO A ORBED ( ) BEIC2%LEZLND,
1) Brfig 72 2) RA 72 3) FRES 72 4) w2

199- H<HAIAEHR ( ) . BELEFTRFICIIRFIZELS LT LEY,
D EIT 2) T 3BT 4 kLT

200- HAFEAT ( ) ETAEEINZSOWTIHHAZ LT\,
1) Hwr 2) B4 3) A 4) F1=

201- BRED=D, o h—E%E ( ) ¥ B%E/RNoT,
1) #EH 2) HiIR 3) 1= & 4y 2

202- HE&iE, EICARRE LS5 LwoEx LT,
) Bk PARPSN 3) Fak 4y AT

203- THIIAT ORI H D DT, DALT AT EZRE LIZHTBR N,
1) B 2) J&l 3) BEAH 4) F

204- A FFRELSTVIL, [KEDITEL LD,
1) 72A L 2) AE DD 3) rAH < 4y At A

205- £F, HELSFHECAVWOLIEZDWNEDEZEZ T EE,
DT 2) FW T A 3) O AE A 4) FWVEA

HASbEBES  (Japanese Culture and History)

206- H ?%%ﬁ%im ENBATEE TR,
1) 1944 -1945 2) 1904 -1905 3) 1884 -1889 4) 1894 -1895
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207- LLF ORFUTIL, SR8 &0 B0, o o
1) BRIt 2) ML 3) S LLIE(R 4) TR

208- UTORABEA BEMEHKDA) 25
D#HER 2 REEE LR 4 Ak
209- LT D ENDE B A OES TRV,
1) ABRH& 2) HiL ik e A 4) [

210- IFED BARTIL, NTARBRBERWDIEAE LI,
1) 19904 ~20014= 2) 20005 AT EE ~ 20055414 -
3) 19754 (RAT~ 19804 1% 4) 1980F{ 1% 2=~ 19904\ #T5H
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Which country is not in the category of Southern-African countries?
1) Uganda 2) Namibia 3) Mozambique 4) Malawi

Which ones are the main tribes in Zimbabwe?

1) Tonga, Sotho 2) Shona, Ndebele  3) Manyika, Sena  4) Venda, Hlengwe
Lesotho and Eswatini (Swaziland) gained their independence from ---------- in the mid-1960s.
1) Italy 2) Spain 3) Britain 4) Portugal

Which politician and freedom fighter was elected as Mozambique's first president after
independence?

1) Filipe Nyusi 2) Samora Machel

3) Joaquim Chissano 4) Armando Guebuza

Who was the previous Angolan president ruling over the country for more than 38 years?

1) Joao Lourenco 2) Jose Eduardo dos Santos

3) Antonio Agostinho Neto 4) Manuel Domingos Vicente

R "and "esmmmemaa- " are the only writers who have been awarded 'Nobel Prize in

Literature' in South Africa so far.

1) Lewis Nkosi / Zakes Mda

2) Damon Galgut / Achmat Dangor

3) Breyten Breytenbach /Andre Brink

4) John Maxwell Coetzee / Nadine Gordimer

Which country is the top oil producer in Southern African region and the second largest

oil producer in Africa continent?

1) Angola 2) Malawi 3) Zimbabwe 4) South Africa
---------- is not a member of Southern African Development Community (SADC).

1) Kenya 2) Mauritius

3) Tanzania 4) Democratic Republic of the Congo

---------- is considered as the founder of Islam in Cape Town and pioneer of Islam in South

Africa.

1) Imam Saeed Alochie 2) Sheikh Ibrahim Batavia

3) Sheikh Noor ul Mobeen 4) Sheikh Yusuf Macassar
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280- The two series of wars between Boers and British army (first and second Boer Wars)
occurred from to ---- and from to :
1) 1860-1862 / 1881-1883 2) 1870-1871 / 1885-1887
3) 1880-1881 / 1899-1902 4) 1891-1893 / 1904-1907

281- Which sentence is NOT correct?

1) African proverbs, stories and legends draw upon the shared knowledge of verbal
peoples, expose their emotions, sensation, beliefs, and manifestation, and
consequently oblige significant communal and moral commitments.

2) African folklores are shaped by many different features, such as music, dance, art,
sculpture, and different characteristics of oral literature. These traditions are
profoundly entrenched into the entire Southern African culture.

3) Dance is an essential fragment of the Southern African culture that uses emblematic
motions, masks, costumes, body painting and props to people's interconnections.

4) In the last decades the entire African norms and values have drawn back
dramatically in favor of invasion and expansion of western cultures throughout
Africa, without any systematic resistance.

282- ------e-- was the only country in Southern African region that in early 2000s confiscated
hundreds of white's farms which brought a lot of worldwide controversies, resulted in
imposing intense sanctions against the government as well as hyper-inflation and almost
economic collapse of the country.

1) Zambia 2) Namibia 3) Zimbabwe 4) South Africa

283- Formation of "Union of South Africa" occurred in ---------- by joining of the former British
colonies of the Cape and Natal, the Boer republics of Transvaal, and Orange Free State.

1) 1850 2) 1885 3) 1910 4) 1920

Directions: Read the following two passages and choose the correct sentence (1), (2), (3), or

(4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

At the end of the nineteenth century, the European powers divided the Africa continent
and ruled virtually all of Africa, and African nations lost their sovereignty. During the
1950s and 1960s, when Africans began to seriously resist colonial rule, Africa
underwent a major transformation and each colony gained its freedom. African
nationalism in between attempted to transform the identity of Africans. So based on
nationalism, rather than strong affiliation to ethnic groups and tribes; nationalist
leaders encouraged Africans to view themselves as a member of their own countries.
While the idea of African nationalism appeared simple in theory, it proved far more
difficult in practice. The colonial powers never considered that the colonies would
eventually form sovereign nations, and ethnic groups were treated as separate "tribal”
or religious groups so that colonial officials could play them against each other,
thereby keeping a colony's populace divided, and, thus, less likely to work together to
overthrow European rule. Various groups continued such practices even after
independence, and the African continent in general suffered from religious and ethnic
strife during the latter half of the twentieth century. Eventually Africans, inspired by
African nationalism, united in hopes of regaining their sovereignty, which was the
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beginning of the notion of the establishment of the Organization of African Unity
(OAU). Although not very successful, but formation of "OAU" in 1963 was a great
achievement for African nationalists to have a continental organization and make
decision about Africa, themselves. The objectives of this newly formed organization
was mainly based on promotion of the unity and solidarity of African states;
coordination and intensification of African countries cooperation and efforts to achieve
a better life for the peoples of Africa; safeguard the sovereignty and territorial integrity
of Member States and to rid the continent of the remaining vestiges of colonization
and apartheid.

284-

1) Colonization of Africa started vigorously from early seventeenth century.

2) The topic of African nationalism has always been negative over the past century.

3) African nationalism was virtually successtul as a role model for the unification and
solidarity of Africa.

4) Establishment of "Organization of African Unity" was mainly based on the
objectives of "self-reliance" and "consciousness”.

PASSAGE 2:

In 1945, the Pan-African Congress inaugurated in Manchester, England manifested a
turning point because it endeavored to address the requirements of all blacks.
Pan-Africanism instigated to strain mutual capabilities of blackness and wanted the
freedom of all black people around the world. Very soon African leaders became more
effective in the movement as they used it to critically invade colonial regulation, and
the effort would become more African-based after 1945. Basically Pan-Africanism is
the notion that African-descent peoples have common benefits and should be
integrated. Over all, Pan-Africanism has frequently taken the shape of a political or
cultural association. There are many diversities of Pan-Africanism. In its slightest
political index, Pan-Africanists imagine a united African realm where all people of the
African diaspora can live. In more-general terms, Pan-Africanism is the feeling that
African-descent people have a countless deal in common. Pan-Africanism really
imitates a variety of political opinions. At a basic level, it is a belief that Africans,
either in the African continent or in the Diaspora, segment not just a common history,
but also a common destiny. This logic of unified pasts and futures has taken many
practices, especially in the formation of political organizations.

285-

1) Pan-Africanism is a political movement representing and symbolizing African
integrity and unification all over the world.

2) Based on Pan-Africanism, there is ideologically a cultural and social separation
among African-descents Diasporas and Africans living inside Africa continent.

3) Pan-Africanism believes indigenous Africans are racially more African than
African-descents Diasporas.

4) Pan-Africanism is merely a ceremonial movement, has never historically been effective
for enlightenment of Africans - inside and outside of Africa continent - at all.
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A.DIL

nsan, agaca benzeyen diinyada yasadikca yar:1 ham yar1 olmus meyve gibidir.
Bu ciimlelerdeki eylemsilerin tiirleri hangisinde sirasiyla verilmistir?

1) ad eylem, sifat eylem, zarf eylem.

2) sifat eylem, ad eylem, zarf eylem.

3) sifat eylem, zarf eylem, sifat eylem.

4) sifat eylem, zarf eylem, ad eylem.

Asagidaki ciimlelerin hangisinde istes catih bir eylem, edilgen yapilmstir?

1) Burada zorla calistirildim.

2) Sabaha dogru kasabaya gidildi.

3) Olay, sabaha kadar evde tartisildi.

4y 1yiyi, kétiiyii birbirine karistirmayin.

Asagdaki ciimlelerin hangisinde sifat fiille kurulmus yan ciimlecik, temel ciimlenin yer
tamlayicisidir?

1) Annem beni soranlara evde yok demis

2) Konu secimine her zaman 6nem veririm.

3) Gelenler, AB’nin iist diizey biirokratlariydi.

4) Sinemada gordiiklerimi anneme bir bir anlattim.

Asagdaki ciimlelerin hangisinde nesne gereksizdir?

1) Panige gerek yok, cocugu bulacagiz.

2) Onu i¢ y1l 6nce ben Kag’ta tatil yaparken gérmiigtiim.

3) Bu duvar1 hemen boyamak ve onu siislemek istiyorum

4) Insan, sevdiklerine yardim etmeli; tehlikelerden korumalidir.

Asa@mdaki alti ¢izili sozciiklerin hangisi gereksiz kullamlmanustir?

1) Okulun bayan bir miidiresi vardi.

2) Sicaklik sifirin altinda eksi bes dereceydi.

3) insan, yasanmus tecriibeleriyle ayakta kalir.

4) Bu ¢inilerin tamamint ben kendim yaptim

“Cocuklugumun gectigi bu sehri terk etmek, yiiregimde her zaman depresecek.”
ciimlesinde asagidakilerden hangisi yoktur?

1) Ozne 2) Nesne 3) Zarf tiimleci 4) Yer tamlayicisi
Pek cok kisinin is bulmak icin Anadolu’dan Istanbul’a geldigi biliniyor.
Yukanidaki ciimlenin 6zne cesidi nedir?

1) Gizli 6zne 2) S6zde 6zne 3) Gergek 6zne 4) Aciklamali 6zne
Asagdakilerden hangisi ‘“bicimce olumsuz, anlamca olumlu” bir ad ciimlesidir?
1) Herhalde onunla gidecek degilsin.

2) Kdyiin muhtarim diin gece kaybettik.

3) Size bu esyalar1 vermeyecek degilim.

4) On y1l dnce bir kazadan dolay1 felg olmus.

Asagdaki ciimlelerin hangisinde dzne, isi baskasina yaptirnmstir?

1) 1ki cebime de erik doldurdum.

2) Kishik giysileri dolaba kaldirdim.

3) Asciya biraz cacik da yaptirdim.

4) Oykii yazarligimi on yil siirdiirdiim.
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Bu parcadaki alt ¢izili tamlamalardan hangisi, tiir bakimindan étekilerden farkhdir?
(DYesil, upuzun kavakliklar geride kaliyor. Uzaktan, (Il)kaleye sirtimi dayayan
kocamus konaklar, (IIT)¢iplak, boz renkli tepeler goriiniiyor. (IV)Konak balkonlarinin
korkuluklari, Dogu masallarindan 6diing alinmiggcasina biiyiileyici. Renkler her
ayrintiyi belirginlestiriyor sanki; agaclar yesil, sehir kahve, kale siyah.

L 2) 1. 3) 1. 41V,

B. TARIH

Asagdakilerden hangisi Mondros Ateskes Antlasmasimin sonuclarindan biridir?
1) Ingilizlerin Musul'u isgal etmesi

2) Talat Pasa Hilkiimeti'nin istifa etmesi

3) Mustafa Kemal Pasa'nin 7. Ordu Komutanligina atanmasi

4) Ttilaf Devletleri'nin Mebusan Meclisi'ni dagitmast

Tiirkiye 1932 yilinda asagidakilerden hangisine iiye olmustur?
1) Sadabat Pakti 2) Birlesmis Milletler
3) Milletler Cemivyeti 4) Lahey Adalet Divam

Asagdakilerden hangisi Ikinci Diinya Savas’’min nedenleri arasinda yer almaz.

1) Tiirkiye’nin  Misakk-1 Milli kararlarina uygun olarak bogazlar iizerinde tam
hakimiyet kurmak istemesi

2) 1. Diinya Savasi'nda yenilen devletlerin agir sartlar iceren anlagsmalar imzalamaya
mecbur birakilmasi II. Diinya

3) Birinci Diinya Savasi'nin sonucunda ¢ikar kavgalari yeni harita simarlar
olustururken, etnik par¢alanmalar1 da beraberinde getirdi.

4) Birinci Diinya Savasi'min  sonuglart ¢ikar iligkilerinde Almanya ve Ttalya
devletlerinin aleyhine olunca, bu iki devlet saldirgan olmustur.

Amerika Birlesik Devletlerinin, II. Diinya Savasi'ndan sonra Tiirkiye ve Yunanistan"

Sovyet tehdidinden korumak icin gelistirdigi''siyaset" asagidakilerden hangisidir?

1) Carter Doktrini 2) Brejnev Doktrini

3) Monreo Doktrini 4) Truman Doktrini

Asagidakilerden hangisi Demokrat Parti'nin kurulmasinda onemli bir role sahip
olmustur?

1) Tan Olay1 2) Hiirriyet Misaki

3) 7 Eylil Kararlari 4) Ciftciyl Topraklandirma Kanunu

Asagidakilerden hangisi Osmanh Devleti'nin  yikilmasindan sonar Ingiltere'nin
Ortadogu'da mandater yonetim kurdugu niifuz bolgeleri arasinda yer almaz?

1) Suriye 2) Irak 3) Filistin 4) Arabistan

LEnver Pasa

I1. ismail Gaspiral

IIL.Yusuf Akcura

Yukandakilerden hangileri Sovyer Rusya'mmn Orta Asya'da yiiriittiigii asimile
politikasina karsi Tiirk topluluklarnin érgiitlenmesi ve savunulmasinda etkili olmustur?
1) Yalmz 1 2)Ivell 3)Tvelll 4) 1, I ve IIT
Asapidaki siyasetcilerden hangileri Ikinci Diinya Savasi yillarinda Tiirkiye'de
basbakanhk gorevinde bulunmustur?

1) Ismet In6nii-Celal Bayar 2) Fuat Saydam-Siikrii Saracoglu

3) Adnan Menderes- Celal Bayar 4) Fevzi Cakmak- Adnan Menderes
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Asagdakilerden hangisi Ikinci Diinya Savasi doneminde Tiirkiye'de yasanan olaylardan
biri degildir?

1) Kéy Enstitiilerinin kurulmasi

2) Demokrat Parti'nin iktidara gelmesi

3) Ankara Radyosu'nun diizenli yayina baslamasi

4) ikinci Bes Yillik Sanayi Plani'nin bagarisiz olmasi

Asagdakilerden hangisi 12 Eylii 1980 darbesi sonrasi Tiirkiye'de yasanan gelismelerden
biri degildir?

1) ABD'nin Tiirk siyasi hayatindaki etkisinin artmasi

2) Milli Giivenlik konseyi'nin yonetime el koymas:

3) Celal Bayar hakkinda idam kararinin ¢ikmasi

4) Siyasi Partilerin kapatilmasi

el b)) st g2 U
In ——-eeemee- hostilities in Palestine escalated, including the bombing on the British King
David Hotel by the Jewish Irgun.
1) 1933 2) 1948 3) 1943 4) 1946
The UN General Assembly Resolution 181 was passed in ---------- , partitioning Palestine
into Jewish and Arab States.
1) 1947 2) 1956 3)1979 4) 1982

The Golan was Syrian territory until 1967, when Israel occupied it in the Six-Day War

and later annexed it in ---------- -

1) 1968 2) 1982 3) 1981 4) 1990

What international organization has been largely involved in settling the Palestinian

refugees in the region?

1) UN 2) NATO 3) UNRWA 4) Arab League

From Iranian point of view, what should be done first on the Palestine front for the

future development of Palestine and Israel?

1) National Election

2) A national referendum in the land of Palestine

3) Hamas should open some forms of dialogue with Israel

4) Palestine should ask for the international troops to fight against Israel

How did the Arab Palestinians react to the UN Partition Plan?

1) Rejected it and declared war against Zionists

2) Accepted it with some conditions

3) Rejected it but remained peaceful

4) Accepted it and remained peaceful

What is the “BDS”” Campaign?

1) It is an antiapartheid movement.

2) It means boycott of the US and Israeli goods.

3) It refers to boycott, divestments, and sanctions against Jewish people.

4) Palestinian-led movement promoting boycotts, divestments, and economic sanctions
against Israel.

Nakba (catastrophe) in the Palestinian context refers to ---------- 2

1) an Arabic name for a place in Palestine invented in 1917

2) the displacement of over 1.000,000 Palestinians before Israel establishment

3) a word Palestinians use to describe the traumatic events of 1967

4) the destruction of Palestinian society and establishment of Israel in 1948
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Sykes-Picot Agreement divided the Ottoman lands into zones exercised by either French
or British spheres of influence in ---------- 7
1) 1916 2) 1917 3) 1922 4) 1924

Intifada, a Palestinian popular uprising against the Israeli occupation of the territories,
began in Gaza and spread to West Bank in ---------- ;

1) 1978 2) 1982 3) 1987 4) 1988

What was the immediate result of the US involvement in the Ramadan War?

1) The PLO was created 2) The U.S. oil embargo in 1973

3) Camp David Accord was signed 4) Egypt and Israel made an accord

How many Seats are in the Knesset?

1) 110 2) 120 3) 150 4) 220

During the Oslo period (the years of the peace process), the number of settlers in the
occupied territories ----------

1) doubled 2) halved 3) disappeared 4) stayed the same

Which United Nations resolution calls on Israel to withdraw from the Palestinian
territories?

1) UN Resolution 181 2) UN Resolution 242

3) UN Resolution 422 4) UN Resolution 3379

PLO was established in ---------- with the stated aim of “eliminating Zionism in
Palestine.”

1) 1964 2) 1946 3) 1967 4) 1973
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